

Research Article

Received: January 25, 2024
Revised: March 27, 2024
Accepted: April 06, 2024

DOI: 10.60101/past.2024.252531

Some Matrices with Padovan Q-matrix and the Generalized Relations

Mongkol Tatong

Department of Mathematics and Computer Science, Faculty of Science and Technology, Rajamangala University of Technology Thanyaburi, Pathumthani 12110, Thailand
E-mail: mongkol_t@rmutt.ac.th

Abstract

In this paper, we establish a new Q -matrix for Padovan numbers and the multiplies between the Q -matrix and the A -matrix. Moreover, we investigate the n^{th} of Q_2 , the n^{th} of Q_1 multiply the A -matrix, and the n^{th} of Q_2 multiply the A -matrix. Finally, we use these matrices to obtain elementary identities for Padovan, Perrin, and relations between numbers.

Keywords: Q -matrix, Padovan Number, Perrin Number

1. Introduction

The Fibonacci $\{F_n\}$ and Lucas sequences $\{L_n\}$ are well-known sequences. For $n \geq 2$, the Fibonacci and Lucas sequences are defined respectively by $F_n = F_{n-1} + F_{n-2}$ and $L_n = L_{n-1} + L_{n-2}$, with an initial value $F_0 = 0$, $F_1 = 1$, $L_0 = 2$, and $L_1 = 1$. The Padovan $\{P_n\}$ and Perrin sequences $\{R_n\}$ are the favorable third-order sequences. For $n \geq 3$, the Padovan and Perrin sequences are defined respectively by $P_n = P_{n-2} + P_{n-3}$ and $R_n = R_{n-2} + R_{n-3}$, with an initial value $P_0 = P_1 = P_2 = 1$, $R_0 = 3$, $R_1 = 0$, and $R_2 = 2$. The first few values of P_n and R_n are 1, 1, 1, 2, 2, 3, 4, 5, 7, 9, 12, 16, ... and 3, 0, 2, 3, 2, 5, 5, 7, 10, 12, 17, 22, ..., respectively (see (6)).

In 1963, S. L. Basin and Verner E. Hoggatt, Jr. (1) studied the Fibonacci Q -matrix

Q_F , which is defined as $Q_F = \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$. After that, they showed that $Q_F^n = \begin{pmatrix} F_{n+1} & F_n \\ F_n & F_{n-1} \end{pmatrix}$, for all $n \geq 1$. Moreover, they obtained some identities of Fibonacci numbers.

In 2013, Kristsana Sokhuma (3) studied the Padovan Q -matrix Q_1 , defined as

$$Q_1 = \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 1 & 0 \end{pmatrix}, \quad (1.1)$$

such that the n^{th} of Q -matrix is defined by

$$Q_1^n = \begin{pmatrix} P_{n-5} & P_{n-3} & P_{n-4} \\ P_{n-4} & P_{n-2} & P_{n-3} \\ P_{n-3} & P_{n-1} & P_{n-2} \end{pmatrix}, \text{ for all } n \geq 1. \quad (1.2)$$

Also, he obtained some identities of Padovan numbers (see (2, 4, 5)).

The direction of this research and development inspired this study. We present the Padovan Q -matrix, along with finding these identities. Now, we define Padovan and Perrin numbers for negative subscripts as follows: $P_{n-3} = P_n - P_{n-2}$ and $R_{n-3} = R_n - R_{n-2}$, (1.3) for all $n < 3$.

2. Main results

In this section, we first give them the new Padovan Q -matrix, which corresponds to the following definition:

Definition 2.1 The Padovan Q -matrix Q_2 can be written as

$$Q_2 = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{pmatrix}. \quad (2.1)$$

Next, we define the 3×3 matrix of A -matrix, which the component of the matrix consists of R_0 , R_1 , R_2 , R_3 , and R_4 , as follows:

Definition 2.2 The A -matrix can be written as

$$A = \begin{pmatrix} 3 & 2 & 0 \\ 0 & 3 & 2 \\ 2 & 2 & 3 \end{pmatrix}. \quad (2.2)$$

Now, we find the n^{th} of Q_2 , which corresponds to the following theorem.

Theorem 2.3 Let P_n be the Padovan sequences.

For $n \geq 1$, we have

$$Q_2^n = \begin{pmatrix} P_{2n-5} & P_{2n-3} & P_{2n-4} \\ P_{2n-4} & P_{2n-2} & P_{2n-3} \\ P_{2n-3} & P_{2n-1} & P_{2n-2} \end{pmatrix}. \quad (2.3)$$

Proof. We will be shown by mathematical induction that $Q_2^n = \begin{pmatrix} P_{2n-5} & P_{2n-3} & P_{2n-4} \\ P_{2n-4} & P_{2n-2} & P_{2n-3} \\ P_{2n-3} & P_{2n-1} & P_{2n-2} \end{pmatrix}$ for

$n \geq 1$. Since $Q_2 = \begin{pmatrix} 0 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{pmatrix}$, it follows that

$n = 1$ is true. Assume that the result is true for the positive integer $n = k$. Then

$$Q_2^k = \begin{pmatrix} P_{2k-5} & P_{2k-3} & P_{2k-4} \\ P_{2k-4} & P_{2k-2} & P_{2k-3} \\ P_{2k-3} & P_{2k-1} & P_{2k-2} \end{pmatrix}. \quad \text{Now, we need}$$

to show that (2.3) also holds for $n = k + 1$ as follows:

$$\begin{aligned} Q_2^{k+1} &= Q_2^k Q_2 \\ &= \begin{pmatrix} P_{2k-5} & P_{2k-3} & P_{2k-4} \\ P_{2k-4} & P_{2k-2} & P_{2k-3} \\ P_{2k-3} & P_{2k-1} & P_{2k-2} \end{pmatrix} \begin{pmatrix} 0 & 0 & 1 \\ 1 & 1 & 0 \\ 0 & 1 & 1 \end{pmatrix} \\ &= \begin{pmatrix} P_{2k-3} & P_{2k-3} + P_{2k-4} & P_{2k-5} + P_{2k-4} \\ P_{2k-2} & P_{2k-2} + P_{2k-3} & P_{2k-4} + P_{2k-3} \\ P_{2k-1} & P_{2k-1} + P_{2k-2} & P_{2k-3} + P_{2k-2} \end{pmatrix} \\ &= \begin{pmatrix} P_{2k-3} & P_{2k-1} & P_{2k-2} \\ P_{2k-2} & P_{2k} & P_{2k-1} \\ P_{2k-1} & P_{2k+1} & P_{2k} \end{pmatrix}. \end{aligned}$$

Also, we find the n^{th} of Q_1 and Q_2 , which multiplies the A -matrix, as shown in the following theorem.

Theorem 2.4 Let R_n be the Perrin sequences.

For $n \geq 1$, we have

$$AQ_1^n = Q_1^n A = \begin{pmatrix} R_n & R_{n+2} & R_{n+1} \\ R_{n+1} & R_{n+3} & R_{n+2} \\ R_{n+2} & R_{n+4} & R_{n+3} \end{pmatrix}, \quad (2.4)$$

and

$$AQ_2^n = Q_2^n A = \begin{pmatrix} R_{2n} & R_{2n+2} & R_{2n+1} \\ R_{2n+1} & R_{2n+3} & R_{2n+2} \\ R_{2n+2} & R_{2n+4} & R_{2n+3} \end{pmatrix} \quad (2.4)$$

Proof. We will be shown by mathematical

induction that $AQ_1^n = \begin{pmatrix} R_n & R_{n+2} & R_{n+1} \\ R_{n+1} & R_{n+3} & R_{n+2} \\ R_{n+2} & R_{n+4} & R_{n+3} \end{pmatrix}$

for $n \geq 1$. Since $AQ_1 = \begin{pmatrix} 0 & 3 & 2 \\ 2 & 2 & 3 \\ 3 & 5 & 2 \end{pmatrix}$, it follows

that $n = 1$ is true. Assume that the result is true for the positive integer $n = k$. Then

$AQ_1^k = \begin{pmatrix} R_k & R_{k+2} & R_{k+1} \\ R_{k+1} & R_{k+3} & R_{k+2} \\ R_{k+2} & R_{k+4} & R_{k+3} \end{pmatrix}$. Now, we need

to show that (2.3) also holds for $n = k + 1$ as follows:

$$\begin{aligned} AQ_1^{k+1} &= AQ_1^k Q_1 \\ &= \begin{pmatrix} R_k & R_{k+2} & R_{k+1} \\ R_{k+1} & R_{k+3} & R_{k+2} \\ R_{k+2} & R_{k+4} & R_{k+3} \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 1 & 1 & 0 \end{pmatrix} \\ &= \begin{pmatrix} R_{k+1} & R_k + R_{k+1} & R_{k+2} \\ R_{k+2} & R_{k+1} + R_{k+2} & R_{k+3} \\ R_{k+3} & R_{k+2} + R_{k+3} & R_{k+4} \end{pmatrix} \\ &= \begin{pmatrix} R_{k+1} & R_{k+3} & R_{k+2} \\ R_{k+2} & R_{k+4} & R_{k+3} \\ R_{k+3} & R_{k+5} & R_{k+4} \end{pmatrix}. \end{aligned}$$

The proof of $Q_1^n A = \begin{pmatrix} R_n & R_{n+2} & R_{n+1} \\ R_{n+1} & R_{n+3} & R_{n+2} \\ R_{n+2} & R_{n+4} & R_{n+3} \end{pmatrix}$ is

similar to the above. Thus,

$$AQ_1^n = Q_1^n A = \begin{pmatrix} R_n & R_{n+2} & R_{n+1} \\ R_{n+1} & R_{n+3} & R_{n+2} \\ R_{n+2} & R_{n+4} & R_{n+3} \end{pmatrix}.$$

The proof of (2.5) is similar to (2.4). The proof is complete.

Finally, we find some identities of P_n and R_n . We also find some identities of the relations between P_n and R_n , as shown in the following theorem.

Theorem 2.5 For $n, r \geq 1$, Then

- (i) $\det(Q_1^n) = 1$,
- (ii) $P_{n-3}^3 + P_{n-5}P_{n-2}^2 + P_{n-4}^2P_{n-1} - P_{n-3}(2P_{n-4}P_{n-2} + P_{n-5}P_{n-1}) = 1$,
- (iii) $P_{n+r-4} = P_{n-4}P_{r-5} + P_{n-2}P_{r-4} + P_{n-3}P_{r-3}$,
- (iv) $P_{n-r-4} = P_{n-2}(P_{r-3}^2 - P_{r-4}P_{r-2}) + P_{n-3}(P_{r-4}P_{r-1} - P_{r-3}P_{r-2}) + P_{n-4}(P_{r-2}^2 - P_{r-3}P_{r-1})$.

Proof. (i) Since $\det(Q_1) = 1$, we have

$$\det(Q_1^n) = (\det Q_1)^n = (1)^n = 1. \quad (2.6)$$

(ii) Since (1.2), we get

$$\begin{aligned} &\det(Q_1^n) \\ &= P_{n-3}^3 + P_{n-5}P_{n-2}^2 + P_{n-4}^2P_{n-1} \\ &\quad - P_{n-3}(2P_{n-4}P_{n-2} + P_{n-5}P_{n-1}). \end{aligned} \quad (2.7)$$

By using (2.6) and (2.7), we get

$$\begin{aligned} &P_{n-3}^3 + P_{n-5}P_{n-2}^2 + P_{n-4}^2P_{n-1} \\ &\quad - P_{n-3}(2P_{n-4}P_{n-2} + P_{n-5}P_{n-1}) = 1. \end{aligned}$$

(iii) Since $Q_1^{n+r} = Q_1^n Q_1^r$, we have

$$\begin{aligned} &\begin{pmatrix} P_{n+r-5} & P_{n+r-3} & P_{n+r-4} \\ P_{n+r-4} & P_{n+r-2} & P_{n+r-3} \\ P_{n+r-3} & P_{n+r-1} & P_{n+r-2} \end{pmatrix} \\ &= \begin{pmatrix} P_{n-5} & P_{n-3} & P_{n-4} \\ P_{n-4} & P_{n-2} & P_{n-3} \\ P_{n-3} & P_{n-1} & P_{n-2} \end{pmatrix} \begin{pmatrix} P_{r-5} & P_{r-3} & P_{r-4} \\ P_{r-4} & P_{r-2} & P_{r-3} \\ P_{r-3} & P_{r-1} & P_{r-2} \end{pmatrix}. \end{aligned} \quad (2.8)$$

By using Matrix multiplication in (2.8), we get

$$P_{n+r-4} = P_{n-4}P_{r-5} + P_{n-2}P_{r-4} + P_{n-3}P_{r-3}.$$

(iv) Since $Q_1^{n-r} = Q_1^n (Q_1^r)^{-1}$, we have

$$\begin{aligned}
& \begin{pmatrix} P_{n-r-5} & P_{n-r-3} & P_{n-r-4} \\ P_{n-r-4} & P_{n-r-2} & P_{n-r-3} \\ P_{n-r-3} & P_{n-r-1} & P_{n-r-2} \end{pmatrix} \\
&= \frac{1}{\det(Q_1^r)} \begin{pmatrix} P_{n-5} & P_{n-3} & P_{n-4} \\ P_{n-4} & P_{n-2} & P_{n-3} \\ P_{n-3} & P_{n-1} & P_{n-2} \end{pmatrix} \\
& \begin{pmatrix} P_{r-2}^2 - P_{r-3}P_{r-1} & P_{r-4}P_{r-1} - P_{r-3}P_{r-2} & P_{r-3}^2 - P_{r-4}P_{r-2} \\ P_{r-3}^2 - P_{r-4}P_{r-2} & P_{r-5}P_{r-2} - P_{r-4}P_{r-3} & P_{r-4}^2 - P_{r-5}P_{r-3} \\ P_{r-4}P_{r-1} - P_{r-3}P_{r-2} & P_{r-3}^2 - P_{r-5}P_{r-1} & P_{r-5}P_{r-2} - P_{r-4}P_{r-3} \end{pmatrix}. \tag{2.9}
\end{aligned}$$

By using Matrix multiplication in (2.9), we get

$$\begin{aligned}
P_{n-r-4} &= P_{n-2} \left(P_{r-3}^2 - P_{r-4}P_{r-2} \right) \\
&+ P_{n-3} \left(P_{r-4}P_{r-1} - P_{r-3}P_{r-2} \right) + P_{n-4} \left(P_{r-2}^2 - P_{r-3}P_{r-1} \right).
\end{aligned}$$

Thus, the identities of (i), (ii), (iii), and (iv) are easily seen.

Corollary 2.6 For $n, r \geq 1$, Then

- $\det(Q_2^n) = 1$,
- $P_{2n-3}^3 + P_{2n-5}P_{2n-2}^2 + P_{2n-4}^2P_{2n-1} - P_{2n-3}(2P_{2n-4}P_{2n-2} + P_{2n-5}P_{2n-1}) = 1$,
- $P_{2n+2r-4} = P_{2n-2}P_{2r-4} + P_{2n-4}P_{2r-5} + P_{2n-3}P_{2r-3}$,
- $P_{2n-2r-4} = P_{2n-2} \left(P_{2r-3}^2 - P_{2r-4}P_{2r-2} \right) + P_{2n-3} \left(P_{2r-4}P_{2r-1} - P_{2r-3}P_{2r-2} \right) + P_{2n-4} \left(P_{2r-2}^2 - P_{2r-3}P_{2r-1} \right)$.

Proof. By using Theorem 2.3 and the property of a determinant $\det(Q_2^n) = \det(Q_2)$, then we obtained (i) and (ii). Similarly, by using Theorem 2.3 and the properties of the power matrix $Q_2^{n+r} = Q_2^n Q_2^r$ and the power matrix $Q_2^{n-r} = Q_2^n (Q_2^r)^{-1}$, then we obtained (iii) and (iv).

Corollary 2.7 For $n, r \geq 1$, Then

- $\det(AQ_1^n) = 23$,
- $R_{n+r+1} = (3P_{n-4} + 2P_{n-3})P_{r-5} + (3P_{n-2} + 2P_{n-1})P_{r-4}$

$$\begin{aligned}
&+ (3P_{n-3} + 2P_{n-2})P_{r-3}, \\
\text{(iii)} \quad &23R_{n-r+1} = 3P_{n-4}P_{r-2}^2 - 3P_{n-3}P_{r-3}P_{r-2} \\
&+ 2P_{n-3}P_{r-2}^2 + 2P_{n-1}(P_{r-3}^2 - P_{r-4}P_{r-2}) \\
&+ 3P_{n-3}P_{r-4}P_{r-1} - 3P_{n-4}P_{r-3}P_{r-1} - 2P_{n-3}P_{r-3}P_{r-1} \\
&+ P_{n-2}(3P_{r-3}^2 - 2P_{r-3}P_{r-2} + P_{r-4}(-3P_{r-2} + 2P_{r-1})).
\end{aligned}$$

Proof. By using Theorem 2.4 and the property of a determinant $\det(AQ_1^n) = \det(A)\det(Q_1)$, then we obtained (i). Similarly, by using Theorem 2.4 and the properties of the power matrix $AQ_1^{n+r} = AQ_1^n Q_1^r$ and the power matrix $AQ_1^{n-r} = AQ_1^n (Q_1^r)^{-1}$, then we obtained (ii) and (iii).

Corollary 2.8 For $n, r \geq 1$, Then

- $\det(AQ_2^n) = 23$,
- $R_{2n+2r+1} = (3P_{2n-2} + 2P_{2n-1})P_{2r-4} + (3P_{2n-4} + 2P_{2n-3})P_{2r-5} + (3P_{2n-3} + 2P_{2n-2})P_{2r-3}$,
- $23R_{2n-2r+1} = 3P_{2n-4}P_{2r-2}^2 - 3P_{2n-3}P_{2r-3}P_{2r-2} + 2P_{2n-3}P_{2r-2}^2 + 2P_{2n-1}(P_{2r-3}^2 - P_{2r-4}P_{2r-2}) + 3P_{2n-3}P_{2r-4}P_{2r-1} - 3P_{2n-4}P_{2r-3}P_{2r-1} - 2P_{2n-3}P_{2r-3}P_{2r-1} + P_{2n-2}(3P_{2r-3}^2 - 2P_{2r-3}P_{2r-2} + P_{2r-4}(2P_{2r-1} - 3P_{2r-2}))$.

Proof. By using Theorem 2.4 and the property of a determinant $\det(AQ_2^n) = \det(A)\det(Q_2)$, then we obtained (i). Similarly, by using Theorem 2.4 and the properties of the power matrix $AQ_2^{n+r} = AQ_2^n Q_2^r$ and the power matrix $AQ_2^{n-r} = AQ_2^n (Q_2^r)^{-1}$, then we obtained (ii) and (iii).

Theorem 2.9 For $n, r \geq 1$, Then

- $P_{n-4} = P_{n-r-5}P_{r-4} + P_{n-r-3}P_{r-3} + P_{n-r-4}P_{r-2}$,
- $P_{2n-4} = P_{2n-2r-5}P_{2r-4} + P_{2n-2r-3}P_{2r-3} + P_{2n-2r-4}P_{2r-2}$,

(iii) R_{n+1}

$$= P_{n-r-5} (3P_{r-4} + 2P_{r-3}) + P_{n-r-3} (3P_{r-3} + 2P_{r-2}) + P_{n-r-4} (3P_{r-2} + 2P_{r-1}),$$

(iv) R_{2n+1}

$$= P_{2n-2r-5} (3P_{2r-4} + 2P_{2r-3}) + P_{2n-2r-3} (3P_{2r-3} + 2P_{2r-2}) + P_{2n-2r-4} (3P_{2r-2} + 2P_{2r-1}).$$

Proof. Since $Q_1^n = Q_1^r Q_1^{n-r}$, we have

$$\begin{pmatrix} P_{n-5} & P_{n-3} & P_{n-4} \\ P_{n-4} & P_{n-2} & P_{n-3} \\ P_{n-3} & P_{n-1} & P_{n-2} \end{pmatrix} = \begin{pmatrix} P_{r-5} & P_{r-3} & P_{r-4} \\ P_{r-4} & P_{r-2} & P_{r-3} \\ P_{r-3} & P_{r-1} & P_{r-2} \end{pmatrix} \begin{pmatrix} P_{n-r-5} & P_{n-r-3} & P_{n-r-4} \\ P_{n-r-4} & P_{n-r-2} & P_{n-r-3} \\ P_{n-r-3} & P_{n-r-1} & P_{n-r-2} \end{pmatrix}.$$

Thus,

$$P_{n-4} = P_{n-r-5} P_{r-4} + P_{n-r-3} P_{r-3} + P_{n-r-4} P_{r-2}.$$

The proof of (ii), (iii), and (iv) are similar to (i). Therefore, the identities of (i), (ii), (iii), and (iv) are easily seen.

Corollary 2.10 For $n \geq 1$, Then

- (i) $P_{2n-4} = P_{2n-11} + 2P_{2n-7}$,
- (ii) $R_{n+1} = 2P_{n-8} + 5P_{n-4}$,
- (iii) $R_{2n+1} = 7P_{2n-11} + 10P_{2n-9} + 12P_{2n-10}$.

Proof. Taking $r = 3$ in Theorem 2.9 (ii), (iii), and (iv), then we have (i), (ii), and (iii). Therefore, the identities of (i), (ii), and (iii) are easily seen.

3. Conclusions

In this paper, we establish the Q -matrix and the multiplies between the Q -matrix and the A -matrix, which consist of Padovan and Perrin numbers. After that, we prove that the n^{th} of Q_2 , the n^{th} of Q_1 multiply the A -matrix, and the n^{th} of Q_2 multiply the A -matrix to help find the elementary identities of the Padovan, Perrin, and the relations between numbers. Also, we get a particular case of some identities.

Acknowledgments

The author would like to thank the faculty of science and technology, Rajamangala University of Technology Thanyaburi (RMUTT), Thailand, for the financial support. Furthermore, the author would like to thank the referees for their valuable suggestions and comments, which helped improve the quality and readability of the paper.

Declaration of conflicting interests

The authors declared no conflicts of interest in this article's research, authorship, and publication.

Reference

1. Basin S.L., Hoggatt Jr V.E. A Primer on the Fibonacci Sequence, Part II. *Fq.Math.Ca.* 1963;1(2):61-8.
2. Kannaika K., Benjawan R., Supunnee S. Some Mathices in Term of Perrin and Padovan Sequences. *J. Math. Sci.* 2019; 17(3):767-74.
3. Krtsana S. Padovan Q-Matrix and the Generalized Relations. *Appl. Math. Sci.* 2013;7(56):2777-80.
4. Krtsana S. Matrices formula for Padovan and Perrin sequences. *Appl. Math. Sci.* 2013;7(142):7093-96.
5. Pisuda S., Songpol N., Taweesak P., Rossukhon A., Sa-at M. Matrices which have similar properties to Padovan Q-Matrix and its generalized relations. *SNRUJST.* 2015;7(2):90-4.
6. Shannon A. G., Anderson P. G., Horadam A. F. Properties of Cordonnier, Perrin and Van der Laan numbers. *Int. J. Math. Educ. Sci. Technol.* 2006;37(7):825-31.